
  

OCTOBER 2012 U/ID 46434/UCCD 

Time : Three hours Maximum : 100 marks 

PART A — (10 × 3 = 30 marks) 

Answer any TEN questions. 

All questions carry equal marks. 

1. What are the characteristics of single entry system? 

 JØøÓ¨£vÄ •øÓ°ß ]Ó¨¦UPÒ ¯õøÁ? 

2. Define account current. What are the methods for calculation of 

interest in current account? 

 |h¨¦U PnUøP Áøµ¯ÖUP. |h¨¦U PnUQß Ámi PnUQk® 

•øÓPÒ ¯õøÁ? 

3. Define errors of principles. Give one example. 

 öPõÒøP¨ ¤øÇø¯ Áøµ¯ÖUP. J¸ Euõµn® öPõkUPÄ®. 

4. What are the accounting methods followed for department 

branches? 

 \õº¢xÒÍ QøÍPÎÀ G¨£i¨£mh PnUQ¯À •øÓPÒ 

¤ß£ØÓ¨£k®. 

5. State any three contents of hire purchase agreement. 

 ÁõhøP öPõÒ•uÀ J¨£¢uzvß H÷uÝ® ‰ßÖ \µzxUPøÍ TÖP. 

6. Define cum-interest and Ex-interest pricing of securities. 

 Ámi²hß, Ámi°À»õ©À Âø»°k® BÁn[PøÍ Áøµ¯ÖUP. 

7. What do you mean by profit and loss appropriation account? 

 C»õ£ |mh JxURk PnUS GßÓõÀ GßÚ? 

8. Define ABC analysis. 

 ABC B´øÁ Áøµ¯ÖUP. 
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9. Define overtime. Why it is necessary? 

 E£›÷|µzøu Áøµ¯ÖUP. GuØPõP Ax ÷uøÁ? 

10. Define fund. What are its objectives? 

 {vø¯ Áøµ¯ÖUP. Auß ÷|õUP[PÒ ¯õøÁ? 

11. Define Break-even point. State two merits of it. 

 \©Ãu ¦ÒÎ Gß£øu Áøµ¯ÖUP. Auß Cµsk |ßø©PøÍ TÖP. 

12. Define can budget and flexible budget. 

 öµõUPz vmh® ©ØÖ® ©õÖ ußø© EÒÍ vmh® Gß£øu 

Áøµ¯ÖUP. 

PART B — (5 × 6 = 30 marks) 

Answer any FIVE questions. 

All questions carry equal marks. 

13. What are the errors that may not be identified preparing trial 

balance? 

 C¸¨¦a ÷\õuøÚ £mi¯À u¯õº ö\´ÁuõÀ Põn •i¯õu ¤øÇPÒ 

¯õøÁ? 

14. What are the distinctions between hire purchase and instalment 

system? 

 ÁõhøPU öPõÒ•uÀ •øÓUS® uÁønU öPõÒ•uÀ •øÓUS® 

EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 

15. Define budgetary control and state its advantages. 

 vmh Pmk¨£õmøh ÂÍUSP. Auß |ßø©PÒ ¯õøÁ? 

16. Rectify the following errors.  

 (a) Rs. 3,000 spent for repairs to building has been posted to 

building account 

 (b) A sale of Rs. 5,200 to Suresh  has been entered in the sales 

book as Rs. 2,500 

 (c) Goods worth Rs. 500 purchased from Vishwam have been 

omitted to be recorded in the books. 
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 RÌPõq® ¤øÇPøÍ v¸zuÄ®. 

 (A) ¹. 3,000 Pmih £Êx£õº¦UPõP ö\»Âh¨£mhx PmihU 

PnUQÀ Gkzx GÊu¨£mkÒÍx. 

 (B) _÷µõìUS ÂØ£øÚ ö\´¯¨£mh ¹. 5,200 ø¯ ÂØ£øÚ 

HmiÀ ¹. 2,500 GÊu¨£mkÒÍx. 

 (C) ÂìÁ® Gß£Á›hª¸¢x Áõ[P¨£mh ö£õ¸ÒPÎß ©v¨¦ 

¹. 500 ¦zuP[PÎÀ GÊu¨£hÂÀø». 

17. Arul purchased machinery under the hire purchase system from 

Balu. The cash price of the machinery was Rs. 15,000.  The 

payment for the purchase is to be made as follows on signing the 

agreement Rs. 3,000, end of the first year Rs. 5,000 end of the 

second year Rs. 5,000, end of the third year Rs. 5,000. Calculate 

the amount of interest included in each instalment. 

 £õ¾Âhª¸¢x A¸Ò J¸ C¯¢vµzøu ÁõhøP öPõÒ•uÀ 

•øÓ°À Áõ[QÚõº. C¯¢vµzvß öµõUP Âø» ¹. 15,000. 

RÌPshÁõÖ £n® ö\¾zu¨£mhx. J¨£¢u® øPö¯õ¨£©õÚÄhß 

¹. 3,000, •u»õ® Bsk CÖv°À ¹. 5,000, Cµshõ® Bsk 

•iÂÀ ¹. 5,000, ‰ßÓõ® Bsk •iÂÀ ¹. 5,000. JÆöÁõ¸ 

uÁøn°¾® ÷\ºUP¨£mkÒÍ Ámi GÆÁÍÄ? 

18. Calculate Break-even point in units and in rupees from the 

following : 

 Rs. 

Fixed expenses 1,50,000 

Variable cost per unit 10 

Selling price per unit 15 

 RÌPsh ÂÁµ[PÎ¼¸¢x \©Ãu ¦ÒÎø¯ A»SPÒ ©ØÖ®  

¹£õ´PÎÀ PõsP. 

 Rs. 

©õÓõ ö\»ÄPÒ 1,50,000 

J¸ A»Qß ©õÖ® ö\»ÄPÒ 10 

J¸ A»Qß ÂØ£øÚ Âø» 15 
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19. Standard output is 10 units per hour and basic wage rate is  

Rs. 1.50 per hour. In a day of 8 hours, A produces 40 units,  B  

75 units and C products 90 units. Calculate the wage of A, B and 

C. 

 J¸ ©o ÷|µ vmh EØ£zv 10 A»SPÒ J¸ ©o ÷|µ® Ai¨£øh 
T¼ ¹. 1.50.8 ©o ÷|µ® öPõsh J¸ |õÎÀ A–Âß EØ£zv  
40 A»SPÒ B–Âß EØ£zv 75 A»SPÒ ©ØÖ® C–°ß EØ£zv  
90 A»SPÒ . A, B ©ØÖ® C–°ß T¼ø¯ PnUQkP. 

PART C — (4 × 10 = 40 marks) 

Answer any FOUR questions. 

All questions carry equal marks. 

20. Enumerate the defects of single entry system. 

 JØøÓ¨ £vÄ •øÓ°ß SøÓ£õkPøÍ Á›ø\¨£kzuÄ®. 

21. Describe the salient features of hire purchase agreement. 

 ÁõhøP öPõÒ•uÀ J¨£¢uzvß ]Ó¨¦UPøÍ ÂÁ›. 

22. Discuss the classification of budgets according to function. 

 £o Ai¨£øh¯õP EÒÍ vmh ÁøPPøÍ ÂÍUSP. 

23. From the following balances, prepare trading and profit and loss 

account for the year ended 31-12-10. 

 Rs.  Rs. 

Opening stock 500 Return outward 250 

Purchases 19,500 Rent 550 

Wages 1,400 Sales 25,000 

Insurance 500   

Carriage inward 400   

Interest on capital 350   

Stationary 225   

Return inward 650   

Commission (Cr) 400   

Carriage outward 725   

 Closing stock was valued at Rs. 12,500. 

 RÌPsh C¸¨¦PÎ¼¸¢x 31–12–10 AßÖhß •iÁøh²® 
BsiØS Â¯õ£õµ, C»õ£ |mh PnUSPøÍ u¯õº ö\´P. 

 Rs.  Rs. 

öuõhUP C¸¨¦ 500 öÁÎzv¸¨£® 250 

öPõÒ•uÀ 19,500 ÁõhøP 550 

T¼ 1,400 ÂØ£øÚ 25,000 
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 Rs.  Rs. 

Põ¨¥k 500   

EÒÁsia \zu® 400   

‰»uÚ Ámi 350   

GÊxö£õ¸Ò 225   

EÒ v¸¨£® 650   

PÈÄ (Á) 400   

öÁÎÁsia \zu® 725   

 CÖva \µUS ©v¨¦ ¹. 12,500 

24. A and B are partners in a firm sharing profits and losses as  

A 3/4 and B 1/4. The profit and loss account of the firm for the 

year ended 31st March 2011 shows a net profit of Rs. 75,000. 

 You are required to prepare the profit and loss appropriation 

account by taking into consideration the under mentioned 

information : 

 (a) The partner’s capital A Rs. 40,000, B Rs. 30,000. 

 (b) Interest on capital was to be calculated at 5% p.a. 

 (c) Current a/c. of partners – A Rs. 15,000 (Cr), B – Rs. 10,000 

(Cr) 

 (d) Partners drawings amounted to A – Rs. 10,000,  

B – Rs. 7,500 

 (e) Interest on drawings was to be charged at 10% p.a. at an 

average of 6 months 

 (f) Partner’s salaries–A Rs. 6,000 and B Rs. 4,500 

 (g) A’s loan a/c Rs. 25,000. Interest rate is  

6% p.a. 

 A ©ØÖ® B TmhõÎPÒ, C»õ£ Ãu® 3/4  : 1/4 BS® 31.3.2011 

AßÖhß •i¢u BsiØPõÚ {Pµ C»õ£® ¹. 75,000. 

RÌUPshÁØøÓ ©ÚvÀ øÁzxU öPõsk C»õ£, |mh JxURmk 

PnUøP u¯õº ö\´P. 

 (A) TmhõÎPÎß •uÀ A & ¹. 40,000, B & ¹. 30,000  

 (B) ‰»uÚ Ámi BsiØS 5 \uÃu® 

 (C) TmhõÎPÎß |h¨¦U PnUS C¸¨¦ A & ¹. 15,000 (Á) 
B&¹10,000 (Á) 

 (D) TmhõÎPÎß Gk¨¦ A ¹. 10,000, B ¹. 7,500 
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 (E) Gk¨¤ß «uõÚ Ámi 10 \uÃu®, 6 ©õuPõ»zøu \µõ\›¯õP 
GkzxU öPõÒÍÄ® 

 (F) TmhõÎPÎß \®£Í® A ¹. 6,000, B ¹. 4,500 

 (G) A&Âß Phß PnUS ¹. 25,000. Ámi Ãu®  
6% BsiØS. 

25. Apportion the overheads among the departments CBA ,,  and D . 

 Rs. 

Manager’s salary 4,000 

Power 21,000 

Contribution to P.F. 9,000 

Plant maintenance 4,000 

Depreciation 20,000 

Canteen expenses 12,000 

Rent 6,000 

 Additional information : 

 A B C D 

No. of employees 16 8 4 4 

Area occupied (sq.ft) 2,000 3,000 500 500 

Value of plant (Rs.) 75,000 1,00,000 25,000 – 

Wages (Rs.) 40,000 20,000 10,000 5,000 

Horse power 3 3 1 – 

 A, B, C, D  xøÓPÐUS RÌUPsh ÷©ÀÁøµa ö\»øÁ JxURk 
ö\´¯Ä®. 

 ¹. 
÷©»õÍº \®£Í® 4,000 

Âø\ 21,000 

ö£õx |» {v JxURk 9,000 

ö£õÔ £Êx£õº¨¦ 4,000 

÷u´©õÚ® 20,000 

]ØÖsia ö\»ÄPÒ 12,000 

ÁõhøP 6,000 

 
 A B C D 

BmPÎß GsoUøP 16 8 4 4 
GkzxUöPõsh £µ¨£ÍÄ \. Ai 2,000 3,000 500 500 
ö£õÔ°ß ©v¨¦ (¹.) 75,000 1,00,000 25,000 – 
T¼ (¹.) 40,000 20,000 10,000 5,000 
Svøµ Âø\ 3 3 1 – 

———————— 


